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Read the following instruction carefully before you begin to answer the question.
The booklet contains the question in English as well as Hindi.
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INSTURCTION TO CANDIDATES

This Booklet contains 50 questions in all comprising of
following two parts :

Part-1 : Quantitative Aptitude
Part-2 : Critical Reasoning

- 25 Questions
- 25 Questions

All guestions carry equal marks. 03 Marks will be awarded
for each correct answer.

01 Mark will be deducted for each incorrect answers.

Before you start to answer the questions you must check up

_ this booklet and ensure that it contains all the 50 questions

and see that no question is missing. If you find any defect in
this booklet, you must get it replaced immediately.

You will be supplied the Answer Sheet (OMR) separately by
the Invigilator. You must fill the Roll Number, Name,
Candidate Signature, Test (Preliminary / Advance),
Examination Date, Post applied for as provided on OMR
sheet. Please note that the OMR sheet will be read by
machine: therefore failing to provide the relevant details as
per OMR sheet will lead to awarding you “ZERQ” mark.
Answers not indicated by - properly darkening the
corresponding circles will not be awarded any marks.

Answers must be shown by completely darkening the
corresponding circles on the Answer Sheet against the
relevant question number by Ball Pen of blue/black ink only.’

' The Answer Sheet & Question Paper must be handed over to

the Invigilator before you leave the Examination Hall.

- Failure to comply with any of the above Instructions will
render a candidate liable. to such action/penalty as may be

deemed fit.

No rough work is to be done on the Answer Sheet (CMR)

~ Space for rough work has been prowded at the end of this

booklet.
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YNT-1 ®Idledld UPIeTS Part-1 Quantitative Aptitude

01 |dlda?+b2=1303Rab=63¢8 M(@+b)2___Tllfa?+b?=130andab = 63, then(a + b)2is ____
[A2zs EER ~joe | D) 296
02 | 2.5/0.0005 = &1 Jedid &7 Evaluate 2.5 / 0.0005 = ? _
A) S | B) 50 | €) 5000 | D) 500
03 |(W5+v2)x (V5-v2)=? ‘ -
A) 10 |B)7 103 | D) V3
04 |ACSIn2A=2SinA d A=? IfSin2A = 2Sin A, then A=?
A) 0° | B) 300 | C) 45° | D) 60°
05 (27)¥3 DT didhd $17 Evaluate (27)/3?
A) 9 [B)6 |03 BRY
06 |2 310,39 172,? '
A) 704 | B) 885 | 0785 | D) 804
07 frafefaa & 9 o1 fawy 31419 W@ 82 Which of the following is an odd prime number?
A) 1 B3 0o | D) 15
08 | 4le 76 Y 7:5:3: 4 I UTd & IR R & faiford fepar SiTlm 8, Y <ga™ Wit ___gnl
If 76 divided in to four parts proportional to 7 :'5 : 3 : 4, then the smallest part will be____
A) 12 B) 15 | ©) 16 | D) 19
09 |UPdRP28INBUP @ WP JMPR A QU BaT I g1 SRR T F U A AeIaare | 3l & &
Yol DI Eag = Qi grft A wire is looped into a circle of radius 28 cm. It is re-bent into square
form. Length of side of square = cm.
A) 42 - |B)44 | C) 46 | D) 48
10 | 26x12:8+? =76 ' '
A) 43 | B) 42 | 0)39 | D)37
11 MRS Y& &1 9al &MY 2, 6, 12, 20, 30,42, 56, | '
Find the missing number 2, 6, 12,720, 30, 42, 56,
A) 60 | B) 64 | | 0 70 | D) 72
12| frofifed & 3 o9 o 3/5 § oifte R 6/7 SFA R
Which of the following fractions is greater than 3/5 and less than 6/77?
A)7/8 [By13 e [D)1/2
13 gfe X + Y> 5 R X - Y>3%ﬁXWH€TﬁW§ﬁ?IfX+Y>5andX Y>3thenselectthecorrect
option of X? .
A) X > 4 [B)x=3 _ |C)X>5 [D)X<3
14 0.89999 ma’rfqaamm gl Square root of 0.89999 is approximately.
A) 0.30868 | B) 0.03868 | ©) 0.94868 | D)0.00386
15 | (V98 -V72 + V50) + VI8 = - -
A2 . | B)3 o4 _ |D)6:
16 | 1111+12121+1020102=? - . -
A) 1033344 | B) 1033334 | C) 103334 | D) 1303334
17 | 7.007+70.7+7.007 =2 _ :
A) 84.074 ' | B)84.714 | ©) 84.741 | p)y8714
18 e 8* =2 ﬁrﬂ%ﬁaﬁﬁmmwaﬁ? If 8= 2 then select the correct option from below?
A)log,8=2 B) log,2 =8 C)logg2 = x D)log,x=8
19 | VZ, V8, VI8, V32.. Ud A. P. QI ¢ | AT ek G BfoWI 2, V8, VI8, V32... is an A. P. series. Find |

the common difference.

A1 [B)vE6 [0 V1o [D)vZ
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| 34

20 X 38 9 Th ﬁ'g‘ p(2, 3) Gﬁmw gﬂ ®1 The shortest distance of a point p (2, 3) from X
axis is
A) 2 | B)3 Jcn . | D)s
21 e /(@) = a?+ Sb AV a AR b P FHIGT TAF _, __ BN if \/(@)® = a? + 5b, then possible value of a &
bwillbe , __
A 3,4 | B)4,18 102,12 | D)6, 4
22 Cos00. Cos1°. Cos2°. Cos3P............ Cos90° =?
Ry [B)o [012 | D) V3/2
23 ﬂﬁ@@ﬁg P(a, b) Hﬂ@ _%I The distance of a point P (a, b) from origin is
Aa+b [B)a-b | o Vaz+ b7 | D) a? + b2
24 &A1 1 @rqufw@rﬁvﬂm%, wﬁémq‘é’rmév number is divisible by 11 leaves
no remainder?
A) 134564 | B) 284961 | ©) 692481 | D) 924682
25 | 6 3mWd@2001 BTfeA____ Tl The day of 6% April 2001 was ____
A) TT%dR Thursday | B) QIhdR Friday | C)Q]ﬁaﬂ’Saturday l D) }¥daR Sunday
YRT -2 fopfewa ST Part-2 Critical Reasoning
126 | 9% e g off G HelY X@T 87 Hos: HERTY : TICI: |
Choose the word which bears same relationship? Mumbai : Maharashtra :: Gangtok : .
A) BfOrgR Manipur | B) AR Tripura l ¢) fafe®a sikkim | D) 3{UMTd WaxT Arunachal Pradesh
27 ﬁ%%q by QIEﬁfI ﬁﬁq I Ve m q W%‘? Which one of the word given below is different from
others?
A) 3H Mango | B) 3T Potato | C)@Fq’Apple | D)aﬁCherry
28 CRIES mﬁw I T B Find the missing number of the given series: F2, _,D8 C16, B32.
| A) A16 |B) E6 loGs | DyE4
29 3{TTT ST S{TTT ? What should come next? JAK, KBL, LCM, MDN, __
A)NEO | B) OEP | O MEN | D) PFQ
|30 | afe @ner &) amel, adet @I, ©r, T U, T B W AR TR P HUST Hgl Il g,
s q&1 &4 ﬁ, BrER - L) %? If ‘paper’ is called 'wood’, ‘wood’ is called ‘straw’, ‘straw’ is called
‘glass’, ‘glass is called ‘rubber’ and ‘rubber’ is called ‘cloth’, then primarily, furniture is made up of ___?
A) DI paper - | B) F'Iﬁ wood | O E’f straw D) ¥ glass
31 i wan, Hid F RN E, ﬁfﬁ'{' ¥ fm el if ‘pen’ is to ‘poet’ then needle is to
A) YT thread | B) e button | ¢) RramE sewing | D) & tailor
32 | U9 G 3 9 S4fU@ g, b1 8 ¥ HH ¢ SHD 1Al U 6 § AP g, A1 10 4 HH ¢ | I8 &I __ 6!
A number is greater than 3 but less than 8. Also, it is greater than 6 but less than 10. The numberis ___
A5 |8)7 - |06 D)8
33 fau e fawedl B & iR Rt W?ﬁﬁ P ?  Select the related letters from the given alternatives.
DHL: WSO :: CFI:?
A) YWR " | B) LOR @) ZXV D) XUR
f%q M fdmeal § Gefed T ®7 99 ®el Select the related number from the glven alternatlves
HI:17:PQ:? _ L
A) 37 |B)33‘ | C)24 ' | D) 30
.35 gEefi & mﬁ@ & AT ¢, e G J1d HL?0ne term in numbers series is wrong number,
find out the wrong term? 3, 10, 27, 4, 16, 64, 5, 25, 125 -
A) 27 | B) 16 o110 |D)25
36 Ty g TR 9T S{TU ? What will appear in question mark? Q, N, K, ?, E. .
A)F | B) G |OH T
37 H’HﬁEERERT[ ST ? What will appear in question mark? 17Z25,15X4,13V3,__?,9R 1.

A) 1053 |B)9P3 Jog1ove (D11 T2
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38

TP Bl HIW A 157 D1 3 B, AT gA @R *, 619 &1 4 B, * SO @RIgTa Hfawr, 952 o1 o g, Af
g @, dr Hiqwr @1 HIS T 87 In a code language 157 means ‘mother always lovable’, 619 means
‘always happy future’, 952 means 'mother very happy' then what is the code of future'?

A)9 [B)6 [0 1 B

39

S8 B g7 Select the odd one out?

A) Gt Earth B) TgHT Moon C) Tb Venus D) Hd Mars

40

24 €2 T fal IR e 3R 9 & e T gy F Gfaufad gl 67

In 24 hours how many times minute hand & hour hand will coincide each other?

A) 12 [ B) 22 | 024 . |p23

41

04:30 9, fiFE 3R U & Hic P og fba T HUTTHM? ___ 0|

At 04:30 how much angle will be formed between Minute hand & Hour hand? 0

A) 435 B) 42.5 Q) 440 D) 45.0

42

3 3R 4 °¢ & & f5g 94, e 3R 4¢ & Sie afufad grft |

At what time between 3 8 4 Hour, Minute hand 8 Hour hand will coincide?

et qc 4 e 3 . .
A) 3.16;1— B)3:15; Q) 3116 o D) 3:15

43

T o T T BT 1 T 100 T FaT &, o o e N 3 e 2

If you write down all the numbers from 1 to 100, then how many times do you write 3?

A) 11 | B)18 | ©) 20 [ D) 21

44

JUIHTT & $HH N Yea| Bl oAU B3 3R R WIS} (b DI TI eg AL A T &7
Arrange the words in alphabetical order & then find which word comes in middle?
Select, Seldom, Selfish, Seller, Send, Second, Section.

A) Select B) Selfish . Q) Seller , D) Send

45

TP DS NI H, fd1=3,2=53=74=9,W7HIHAA=?
In a code language, if 1 =3,2=53=7 4=9 thenthevalueof7=?

A) 15 B) 11 Q17 D) 13

46

3T Sifpd & THT ¥ 15 e Ugd 99 19 & forw eR I e $iR 08.40 99 99 T4 Ugdl 39 W
A 99 €y 9% ugma & 10 fiFe @ 31 99 w0 ¥ R 98 frw wmg Fafid 0 3 W e 82
Today, Ankit left home for the bus stop 15 minutes earlier than routine time and reached bus stop at |
08.40 AM. It takes 10 minutes to reach the bus stop from his home. What time does he routinely leave
home for the bus stop?

A) 0830 AM | B)08.35 AM C) 0845 AM D) 08.55 AM

47

g U S15% B YISl B &1 §, O Sfeur-uid foem & 9« 38 81 Aie 1o fo=n & 9«1 3871 82 Mohan is

chasing a bike which is moving in the South-West direction. in which direction is Mohan moving?

A)SW North | B) Ud East C) 3W-Ud North-East | D) Sf30T-Uf3 South-West

48

TH 59 40 Tt / HeT ot Tfd -7 0@ R § 3R 60 fartlt /7 ¥eT ot i q auw diedt 81 gl = &
aRF g nfa_ fptl/ 9211 A bus travels at a speed of 40 km/hr to a destination & returns back
at a speed of 60 km/hr. The average speed during the complete journey is km/hr. :

A) 50 B) 48 C) 46 D) 42

49

TaU' T’ Q GelUd ¢ 3R 34T IRE e &I Gay AR

‘'Heart' is related to' Blood' and in the same way 'Lungs’ is related to * "

A) BT Chest B) RSHR Purification QgaAr D) ¥ Veins

50

TP fad B SR TIRT R g¢, Wa{mtﬂ?rﬂl%w@rav—cﬂ 3t AT 3P fdr 31 ThHE 91 ¢ 1 Afgen
S o & HR Wl 32 4
Pointing towards a person, a man said to woman, "His mother is the only daughter of your father.” How
is the woman related to that person? )

A) 8¢t Daughter B) &g Sister ) Af Mother D) Ut Wife
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P &1 & g Tl wF)

(Space for rough work)
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